math Antics ame:
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Solving 2-Step Equations - Set 1 F—
( Instructions: Solve each equation. )
B 4x+7=15 2x-4=10
-7 -7
tx =8
4 4
W 6+3x=15 25=4+7x
B 41=8x-23 5x-12=18
9x + 7 =88 25=3x-8
o 1+10x=91 16 =12 + 4x
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Solving 2-Step Equations - Set 2 ——
( Instructions: Solve each equation. A

B 2 +5=12 = -3=9

4 5 5 2
4= = 7(4)
-

&] %+15=20 35=11+ 6x

1= -7 4x-11=5

B 21=21+7x %—9=1
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Solving 2-Step Equations (with Groups) FE—
( Instructions: Solve each equation. A
B 3(x-5)=18 5(x + 6) =40
3 3
x-5 =6
+5 +bH
B xX+9 _ x—15 _
2 > 4 3
(5 32=8(X+1) 3+X=4
7
x-10 _, 6(x—11)=42
9
2 10x+2)=70 X+5 _
- 14
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Solving “Tricky” 2-Step Equations [R—
4 7\
Instructions: Some 2-Step Equations are tricky because of the location of the unknown in operations
that don't commute (subtraction and division). One way to solve these equations is to do an extra

initial step to re-arrange the equation so that it looks like one you already know how to solve.
1] 12 B 21
(X+B)—— =2(x+5H) —_— =7
X—+5 x—4
12 =(x + b)
2 X
6 =x+5
-5 -5
B 11=23-4x a 27 -3x=15
8 g 24 6] 577
x—3 X+6
41 -2x=9 B 25=80-11x
- J

@3 solving 2-Step Equations * mathantics.com © 2015 Math Plus Motion, LLC



math Antics

Work sheets

Name:

Date:

AB-TSE 5

Solving 2-Step Equations (with decimals)

@ 1.5+2x=125

B x+6.1

=3.4

B 4(x-1.9)=52

m X _r23-=
04 23=7.2

(&

Instructions: Solve each equation. You can use a calculator to do the decimal arithmetic if you'd like to.

3.5(x+0.2) =7

x—3
=1.2
2.8
X
11 +3.6=4.3
3x+1.8=7.2
x+ 1.7 _
3.1 =6
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Solving 2-Step Equations (with negative numbers) —
( Instructions: Solve each equation. A
B 5+2x=-17 2 -9x-9)=27
B ox+(3) _ . o ox+15_ ,
-5 -3
B 3(x-8)=-60 (6] %+10=-3
x+8=2 i -3x-3=-15
-6
9 1=9 = 4
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